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1. (o) =S fom SRR va (1 oo fordn 1x4=4
Write whether the following statements
are True or False :

() WOR RPRoTR WD 37 oM
20 | e |

The government securities have
maturity period between 3 and
20 years.

24P71059 ( Turn Over )



(2)

(i) e Romr aels Mz e ow
ORI (R |

- " The basic principles of technical .

analysis originate from Dow theory.

(i) APM TR GFF-BomIA 0o |

APM is a single-factor model.

(iv) @ *RFER R sy f{were s=rw
WA

Forthula plans do not help in
_deciding the timing of investment.

(b) %WW &l SRR RIS . 1x4='4

Fill in the blanks with appropriate
word(s) : -

() TR PII0 ___ I 0TS TR |
' (R. 5.%.~100 / 21T 5% RN /
R. 95.%, -5 )

Capital index bonds are linked with

( BSE-100 / Consumer Price
Index / BSE-Sensex )
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(i) 3¥7 _____ AR e A PRI |
(TR / A gEm /
T 70 )

The of the stock is called
resistance area.

( market price / low price /
peak price )

(i) AR Pt QT eI BT LR ____
o |

( TwRem =¥ / wfwen / A )

The stock above the security

market line is ____ security.
( of high risk / overpriced /
underpriced )

fiv) RO 3= ___ Rt ¥ W3 /A
T

( *rafdsre R =531 / J-rafoe

~ . Rema/sEm)

The beta coeflicient is treated as a

measure of
( systematic risk / unsystematic
risk / average return )
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2. 5 o frar (R e wif¥on) - 4x4=16

-Write shoft notes on (any foun :

(a)
(b)
(c)
(d)

@

3. (a)

24P/1059

T I Afopfe

Money market security

fqifoa Rewa
Charting analysis

coneieie Reaa
Portfolio analysis

CAPM T A1 «i8!
Empirical test of the CAPM

L4

WHEOR AP

Components of performance

AR e . ¥ RS
RifarsiRiee & & R Srere Rivan
FA@? - 4+10=14
Define security. What are the investor’s
objectives in investing his funds in the
stock market?

( Continued )

(5)

5331/ Or

W SEGCE IR FM ¥ A TR IF /R
it fRefers @l WIIFA T : 14

Explain in detail the Dow theory and
how it is used to determine the direction
of the stock market.

celiberfels Rem xR oS arm w0 e
el () o @A TS,
(i) o FTIFOIR TFS WF (i) D
ol | AT TR Bfde 1 1 14

Explain the nature of portfolio risk if
two securities (i) are perfectly positively
correlated, (i) are perfectly negatively
correlated and (iii) have zero correlation.
llustrate with diagram.

_ w331/ Or
Al | TF OIS WF SR
DTS TS 4 N4 (IYSA 1 10+4=14

Discuss in detail Markowitz efficient

frontier. Differentiate between efficient
portfolio and feasible portfolio.
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(7)

¥qr/ Or
5. (@ WREGE T o5 9FF OF GFRF Soww /
o R e 3940 | WRGS T ee ®) () T Ras § sl oe Rwa o
ARAPRR T8y 70 1 10+4=14 Cort fore | 7
Discuss the basic Arbitrage Pricing Write a note on Sharpe’s Reward to
Model of single and multiple factor. Volatility Model.
Mention the assumptions of Arbitrage (i) = FA T SYPR T R :
Pricing Model. Astha firm gives the Tfollowing
/T Or information :
fo—A | J&B | - | oD
(b) TR W T SO IRAX WA 40| Fund—A | Fund—B | Pund—C | Pund—D
T IWE @9 9F AR qwR @9R T TG S 17 18 16 14
4Tl N cryeqr | 10+4=14 Average return
Discuss in detail the Capital Asset B T 5o 19 | 20 13 12
Pricing Model. Distinguish between Standard deviation
CML and SML. ° TET R FS I 9 2R
The current risk-free rate of return
' a is 9 percent
6. (@) () crbcERis FREST e R w2
S Swwe R = w:+4=7 s il ok e et o1 Tre
IR Tw_FR= | gof P /7 IR
- What do you wunderstand by TR 151 Resq /= 301 7
portfolio revision? What are its tha fi . . decid
constraints? Astha firm is ttjytmg to decide two
out of the four investment funds.
i) GRS You are required to choose the best
(i) e 5% SR Recy v 4| 7 . .
. two alternatives through wusing
Explain the Treynor’s performance Sharp index.
index model.
% % %
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